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gl H=T 32, 56, 72 & UGS
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3xy=3XxXy
Sx=5Xxx
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fgada & o1 ka + kb = k (a+b)
Buda @ fW  ka + kb +ke = k (a+b+c)
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=(a+1)(3b+2) SHAMS 8 | g7: Ufhar HRd &

=3ab+3b+2a+2 A
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Ka+Kb + Pa + Pb
= K(a+b) + P(a+b)
= (a+b) (K+P)
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=2y(3x-2) =3(2-3x)
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6-9x =-9x+6
—3(3x-2)
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6xy - 4y +6 - 9x
=06xy-4y-9x+6 (@RI BT W)
=2y (3x-2) -3 (3x-2)
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() 12x,36 (i) 14pq, 28p°¢ (iii) 6abc, 24ab’, 12 a’b
(iv) 16x°, -4x°, 32x (V) 10pg.,20gr, 30rp (vi) 3x°)",10xY°,6x°y’z
2. Fr=fafaa STl & I[UFRITS HITY — (ATd I[UFRITS §IRT)
(i) 6p - 12 (il) 7a*+14a (iii) 10a’-155™+20¢"
(iv) ax’y +bxy” +cxyz (V) Xyz + xy’z + xpz° (Vi) -16z +207'
3. UFETS HIY (AT §RI)
(i) 2xy + 3 +2y + 3x (ii) z- 7 - 7xy +xyz
(iii) 6xy -4y +6 - 9x (iv) 15pg + 15 + 9g + 25p

10.3 GBI & YART §RT [UHETS
B9 39 AIAHBRI Bl S &
(i) (a+by =d +2ab+ b (i) (a-bY = -2ab+ b (iii) (a+b) (a-b) =’ - b’
S FIAHBIRAT BT SUINT §H FSid] & IUFRITS B & folg 1 & B |
SB] FERIAT | 9 U dlcl 980 9 ASIPl & UFRITS AT H B Fahd ¢ |
Jerevvl 4 FEfaRead & oHwes By |

(1) x*+6x +9 121 5 e
a+2ab+bH ®HIH M W (i) T4 U &
=x* + 2xxx3 + (3) (i) I8 & + 2ab + b* & HU
=(a)’ + 2x(a)b) + (b) PT & S8l @B WF TR &
= (x+3) TATH & WM 9 7
AT a=x,b=3
e fafer
x*+6x +9
=x+3x+3x+9
= x(x+3) +3(x+3)
= (x+3)(x+3)
= (x+3)°
(2) 94” - 30ab +25b° 12 b
= (3a)’- 2 x 3a x 5b +(5b) (i) = ug &
= (a)- 2x(a) x (b) + (b) (i) I8 " -2ab + b* & I BT & STaf
= (3a-5b) a"® WIF TR 9a°TAT b° & RF W

25b* 8| 31d: a = 3a, b= 5b
aqe-d fafer 94° - 30ab +255°
= 94° - 15ab -15ab +25b°
= 3a(3a-5b) -5b(3a-5b)
(3a-5b) (3a-5b)
(3a-5b)*
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(3) 45 - 94° (i) 398 Fdm®dT o - b° = (a+b)(a-b) A
= (2x)* - (3a)’ BT TN BT Fifd 389 g1 U gof aFf &
= (2x+34) (2x-3a) T8 o = 40, b = 94 @
a=2x, b=3a ‘
(4) 2x° + 16x + 32 (i) 9 gom g f<aw ug gof &1 ©
= 2¥* + 8x + 16] (i) & get & 2 Swafis R
= 2[x*+ 2x x 4 + (4)] i) UE 4+ 2ab+ B D U BT
= 2(x+4)

10.3.1 (x+a)(x+b) & ®©U > I[UHETS

T UPh oR dlcl oTdl, o X+ 8x + 12,y -5y +6, 2 -4z-12,x° + 2x- 15
SN ASTDI & PUFAETS [HF YR IR Fad & 7d D (a+b)’(a-b)’ & UBR & el
g i g7 T U gl aFf 981 B iR A (@-b) B UBR & 1 LI 2 |

R A x° +(a+b)x +ab YPR & & T UPR & UREIUS PR b oY 8F

x* +(a+b)x +ab = (x+a)(x+b) TIAHBT BT TANT HX Ahd & 9D (ol &H x
HT T TAT AR TS Bl ST © | 3MSY STV §RT odd @ 1 U1 {6 R o
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33t sz wet g
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Iarevvl 5 FrEfaRad & JoHErs Bifo |
(i) X +8x+12
AIAMABT x° +(a+b)x +ab A TN I W
at+b=8 ab =12

a AR b P S A B oG, ab=12, % 12D T4
OFAEUS] BT I BRAT BT TS AT 8 BT B

3T BH g=2 TAT b=6 i
AqA: X +8x+ 12 = (x+2) (x+6)

(i) »*-5y+6
T BT W
atb= -5 ab =6
Y- (2+3)y +6
=2"-2v-3v 46
=y(»-2) -3 (»-2)
=(-2) (y-3)

AT B R

(i) 2°-4z-12
atb= -4 ab=-12
ab=-12 ® A B qAT b § S H U FITHD
B, a+tb=-4 &1 3 T IS G&ATHS A9 FUNHD
BT a=-67 hb=279 WR —
- 4z-12=7"- 62422-12
= 2(z-6)+2(z-6)
= (z-6)(z1+2)

I 6 x° + 2x - 15 [UFETE HITT |
gl ¥ +2x-15
a+b=2 ab=-15 (TN A W)
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v
4x3

v
2x6

ANT (4+3=7) (2+6=8)

T = -5
(-2-3)=(-5)
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!

4x3

!

2Xx6

ab=-15FBT JA B qAAAT b § A TP RUNHD & a+ b =2
a T 919 g9TcHS BT ARY 3R b F0THSG BT dATRY

{15
3x5

a=5, b=-3

X+2x-15 = x*+5x-3x-15
=x (x+5) -3 (x+5)
= (x+5)(x-3)

AT =5+(-3)
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(1) Frefoed & Toravs | @
(i) a4 (i) o’-49p (i) «’-121p (iv) (a-by'-c
v) da'-b' (Vi) 5x°-125x  (vii) 63a-112K°  (viii) 916

(ix) (I+m)*-(l-m)’

(2) fr=feRead & TorETs S |

(i) I+ mx (i) 2x° +2x)" +2x7°
(iii) a(a+b) +4 (a+b) (iv) (xy+y)+x+1
(V) 5d4°-15a - 6¢ + 2ac (Vi) am® + bm’ + bn® + an’

(3) fr=ifeiRad @il & orHETe B |

(i) X+5x+6 (i) ¢*+11q +24
(iii) m® - 10m + 21 (iv) x*+6a-16
(v) x*-7x-18 (vi) K -11k-102
(vii) y*+2y-48 (vii) d*-4d-45
(i) m®+16m + 63 (x) #*-19n- 92
(xi) p°-10p + 16 (xii) x*+ 4x- 45

10.4 §Isia a@wal &1 o=
g4 dIoi @S] ®I Sire, gl il IO &A1 9d & & U] &9 Ud doid
ST A GER Pl A9 HRAT 3d AR | fa9ToT 892 o @1 gfdelrd fshar € |
S - 5x8=40W40-8=5a140+-5=8
Al UBR 3x x 5x% = 15x°
15x° — 5x* = 3x
15x> +~ 3x = 5x°
I UBR 5x (x+3) = 5x’+15x
(5x*+15x) = B5x = x+3
(5x*+15x) = (x+3) = 5x
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X
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(i) -20x°+ 5x° B DI |
ecl S2X2X5XXXXXXXXXX
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5xxxx
(i) 74°%b°c" + 21abc
Bol _ TXaxaXbxbxcXc
3x7xaxbxc
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(iii) 63p2q3r - -3p4q
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-3XpXpXpXpXq
_ 3xTXgXgXr _ 2147
- -pXp v

10.4.2 U& 9gu< 4 U U941 @ASd A AT

8)°+6)"+ 12y P 2y ¥ fawoH R fIaR &xd &

8°+6)°+12y 2y (4)° + 3y +6)

2y 2y
= 4)’+3)+6
U 39 UBR A B Thd 8
8y’ +6)° + 12y _ % +(i +12L
2y 2y 2y 2
= 4°+3y+6

JeTE 8 (18x + 12x°- 6x°) + (-3x) @ BA PIFY |

ed 185+ 12 -6  6x (3 + 2¢x)
3x - 3x

=-2(3 + 2x*-x)

=-6-4x" +2x

= -4 +2x-6

10.4.3 9gUs &I 9guq 9 fadrer
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10 YUrEvS TfoTg

JEERUT 9 (¥ + Tx+ 10) = (x+2) B & BT }\\
& X +7x+10 _ X’ +5x+2x+10 A
X+ 2 x+2 5 2
_ x(x+5) + 2 (x+5) _ (x+5) (x+2) e W 5+2=7 >
- x+2 - x+2 = x+35

Sarever 10 p(5p° - 80) &I 5p(p-4) & 91T €IRIY |

gel p(5p° - 80) _ o (p*-16)
S5p (p-4) op (p-4)
5pl(p)’- (4)'] _wp-4) pta) | ‘4
5p (p - 4) sp(p-4)
) v et L g
Al &1 ygam
(1) 3x+x+4x=56
7x = 56 Bl ug & oIiep 1
x=206_g BT YT TAT 8] ST
7 2 W 99 Y&l BT Sired
e HEf ¥ FE IR A DI | Y 39 AT H affera
(2) 5x BT AF x =-2 W ST DI | PR T |
=5-2 =3
e el © ? Ae 7 A DI |
(3) TTTHI & BA BIaW A T BIew B # Ay Ty € Sifg ke gad SIANT BA
|E 7 ?
gl A B
3(x-4) 3x - 4 3x - 12
(2x)° 2 4x*
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9 1. fm=ferRad fawre™ #ifdTg |
@ () 28+ = 56x (i) -36)° = 97
(i) 34x5%° = 510 (iv) 124°b° + (- 6a°b")
2. fau gu 9gue @1 Ry gY ve udl & |7 A |
(i) (5x"-6x) = 3x (i) (°+2x°+ 3x) ~2x
(i) (0°¢°-P°¢") =P’ (iv) (3x°-4x°+5x) —x'
3. frafaRaa oo #ifsg |
(i) 10y(6y +21) =52y +7) (i) 9x**(3z-24) = 27xy(z - 8)
(i) (10y +14) = 2 (iv) (6x-15) = (2x - 5)
4. TS B IOTHETS BIFIY 3R ART AT |
(i) (P +7y+10) = (v +5) (ii) (5x% - 25x + 20) = (x - 1)

(i) 120(9% - 16)%) = dxy(3x +4y)  (iv) 4yz (2 + 6z - 16) = 2y (2+8)
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TOTRgUS T ST Bl IAD UG & O & w0 H AR B DI U(HAT B |
TR qUFETE T8 BT & O 31T iR I[Uvs] § T8l dfel Sff |Ahdl & |
3. MIfhd YR & ASTHl B UGS & wY H Fad [HAT S Fahall o—

(i) a*+2ab+ b= (a+ b)

(i) - 2ab + b°= (a - by’

(iii) a*-b*=(a+ b)(a-b)

(iv) X* +(a+b)x + ab = (x + a)(x + b)
4. IS AP X° +(a+b)x + ab TU ¥ & AT TADGI OGS (X+a)(x+b) B |
5. 0T, 9T &1 Ghd Il & | T8 Hehed T SISO @stadl 1= W &) 81l 7 |
6. 39 I ¥ U o il & faqre=i @1 Rafd & 85 9o = 9Toid X 9HTh

Tl BRI UR= 0% wY H g8 Heel Fr=iferad 8—

MR = 9Iold X 9T + 29
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